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Conversions

Binary - base Z 3 x1= + 2x 20' + 1X
060101

06 110
37 16 0" 2

(? + (2 + 0(2) + 1(20)
- -

-

8 + 2 + o + I 13

Hexadecimal (Hex) - Jase 16

0 x F3B
0 -9 A -

T a - M

D

F x/62 + 3 x/' + B x 16
- - -

15 x /6
2

+ 3 x16 + 11 X I

15x256 + 48 + 11

3840 + 48 + 2 = 3894



Converting HEX to BIN and BIN to HEX

HEX O x F3 T

↓ ↑
BIN OX IIII 0011 1011

Conversions

2 14
"

-> vin+32 -t

"O6 1101
"

"Ox F3B"

parse - operand()

TK
-

INTLIT

TK-BINLIT I ->
TK-HEXLIT



"I011"
- scos/scas
char * S = "1011 1

6 : 23 (

vint32-
7 tmp = 0 ;

vint 32_
+ value = 0 ;

char d '0' = 8

" = 49

d = S[0] ;
Ginart
- decimal

# &

tmp I a - 'Ol
S Hexadecimal

-

value = Imp
N

\

d = S21]

tmp =
d -'0' ;

value = (value 1)

I= value **+m
valve = I














